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Q1 (a) What are the requirements for a data set to be suitable for Factor Ana1y31s‘7 @K[Z 5]%&01 C02,C04]
(b) Explain varimax rotation with example 2,51

Q2 (a) Explain single linkage agglomerative hierarchical clustering with exa a

$[2.5] [CO1,C02,C03]

(b) Draw tree diagram (Dendrogram) for given data set: K [2.5]
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Q3 (a) Suppose we have several objects (4 t?pe:%efﬁi‘nedlcmes) and each object has [3] [COL1,C02,C03]
two attributes as shown in table bel'w E@u@gwen ob]ects into k = 2 group of

medicine based on the two attng :

" %gﬁAﬁrinte-l Attribute-2
gﬁhgect (weight index) (pH)

%@e&lc‘ e A 1 1

*5? églﬁiﬁ%dmme B 2 1

_ ‘aﬁ Medicine C 4 3

& Lé Y Medicine D | 5 4

‘%
(B, Er at are the advantages and disadvantages of k-mean clustering? [2]

04 (?;» You are stranded on a deserted island. Mushrooms of various types grow. - [CO1,C03,
widely all over the island, but no other food is anywhere to be fou:od. Some of the C04, CO5]

mushrooms have been determined as poisonous and others are not. You have the

following data to consider.



Mushroom |  Not '
' tyi)e : Heavy ‘Smelly Spotted Smooth Edible
A 1 0 0
B 1 0 1
C 0 1 0
D 0 0 0
E 1 1 1
F 1 0 1
G 0 0 0
H 0 i 0
U 0 1 1

i,  Whatis the entropy of Edible? M,
ek BT :
ii. With the help of mushrooms (A-H), build a &gﬁh@ ee to classify [5]

mushrooms as poisonous or not. %%:'}%

._ %45 poisonous or not [1]
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